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BSEH Practice Paper Marking Scheme  
Class- XII 

Military Science 
Time Allowed: 2 ½  Hours                                    Max. Marks: 60 
 

 lHkh iz’u vfuok;Z gSA 

 iz’u la[;k 01 esa 15 iz’u gaS] ftuesa 06 cgq&fodYih; iz’u] 03 fjDr LFkku Hkjks iz’u] 03 ,d 
'kCnh; mŸkj ds iz’u vkSj 03 vfHkdFku&dkj.k iz’uksa dk mŸkj nsuk gSA izR;sd iz’u 01 vad dk 
gSA 

 iz’u la[;k 02 ls 07 rd ds iz’u vfry?kq mŸkjh; gS] buesa 02 iz’uksa esa vkUrfjd fodYi gSaA 
buds mŸkj 40 ls 60 'kCnksa esa nsus gSA izR;sd iz’u ds 02 vad gSaA 

 iz’u la[;k 08 ls 13 rd ds iz’u y?kq mŸkjh; gS] buesa 02 iz’uksa esa vkUrfjd fodYi gSaA buds 
mŸkj 60 ls 80 'kCnksa esa nsus gSA izR;sd iz’u ds 03 vad gSaA 

 iz’u la[;k 14 ls 16 rd ds iz’u fucU/kkRed gS] buesa lHkh iz’uksa esa vkUrfjd fodYi gSaA 
buds mŸkj yxHkx 250 'kCnksa esa nsus gSA izR;sd iz’u ds 05 vad gSaA 

General Instructions: 
1- All questions are compulsory.  
2- Question no. 01 has 15 questions, which consisting of 06 multiple choice questions, 03 

fill in the blank questions, 03 one word answer type questions and 03 Assertaion-Reason 
questions. Each question is of 01 mark. 

3- Questions no. 02 to 07 are very short answer type questions, out of which 02 questions 
have internal choices. These are to be answered in 40 to 60 wards. Each question carries 
02 marks. 

4- Questions no. 08 to 13 are short answer type questions, out of which 02 questions have 
internal choices. These are to be answered in 60 to 80 wards. Each question carries 03 
marks. 

5- Questions no 14 to 16 are essay type questions; all the questions have internal choice. 
These are to be answered in about 250 words. Each question carries 05 marks. 

 
 
Q. No. Value Points/ Answer MM 

 Multiple Choice Type Questions 15x1= 15 

1 (1) fuEufyf[kr esa ls dkSu lSU; laxBu ls lacaf/kr gS% 
¼d½ lsuk dk lkeatL;  
¼[k½ Fky lsuk dk xBu  

¼x½ lSfud ,oa ukxfjd ,drk  
¼?k½ buesa ls dksbZ ugha 

¼d½ lsuk dk lkeatL; 

1 
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Which of the following is related to military organisation: 
(a) Coordination of the army 
(b) Formation of the army 
(c) Soldiers and citizen unity 
(d) None of these 
Answer- (a) Coordination of the army 

1(2) ;q) {ks= dh jkuh gS& 

¼d½ ok;q lsuk  
¼[k½ iSny lsuk  

¼x½ ukSlsuk  
¼?k½ buesa ls dksbZ Hkh ugha 

 
The Queen of the battlefield is- 
(a) Air Force 
(b) Infantry 
(c) Navy 
(d) None of these 
Answer- (b) Infantry 

1 

1(3) Hkkjrh; l’kL= lsukvksa dk lokZsPp dekaMj dkSu gksrk gS\ 
¼d½ j{kk eU=h 
¼[k½ iz/kkueU=h 
¼x½ j{kk izeq[k 
¼?k½ jk"Vªifr 
mrj&¼?k½ jk"Vªifr 
 
Who is the supreme commander of the Indian Armed Forces? 
(a) Defence Minister 
(b) Prime Minister 
(c) Chief of Defence Staff 
(d) President 
Answer- (d) President 

1 

1(4) Hkkjr esa ok;q lsuk fnol dc euk;k tkrk gS\ 
¼d½ 08 vDVwcj 
¼[k½ 09 vDVwcj 
¼x½ 10 vDVwcj 
¼?k½ 11 vDVwcj 
mrj&¼d½ 08 vDVwcj 
 
When is the Air force day celebrated in India? 
(a) 08 October 
(b) 09 October 

1 
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(c) 10 October 
(d) 11 October 
Answer- (a) 08 October 

1(5) Hkkjrh; ukSlsuk dk eq[;ky; dgk¡ fLFkr gS\ 
¼d½ eqacbZ 
¼[k½ dksydrk 
¼x½ ubZ fnYyh 
¼?k½ psUubZ 
mrj& ¼x½ ubZ fnYyh 
 
Where is the headquarters of Indian Navy located? 
(A) Mumbai 
(B) Kolkata 
(C) New Delhi 
(D) Chennai 

            Answer- (C) New Delhi 

1 

1(6) rstl D;k gS\ 

¼d½ gsyhdkWIVj 
¼[k½ yMkdw foeku 

¼x½ VSad 

¼?k½ fe’kkby 
mrj&¼[k½ yMkdw foeku 

 
What is Tejas? 
(a) Helicopter 
(b) Fighter Aircraft 
(c) Tank 
(d) Missile 
Answer- (b) Fighter Aircraft 

1 

1(7) Hkkjr esa Okk;q lsuk vdkneh dgk¡ ij fLFkr gS\ 
mrj& gSnjkcknA 
 
Where is the Air Force Academy located in India? 
Answer- Hyderabad 

1 

1(8) ,u0lh0lh0 dh LFkkiuk dc gqbZ\ 
mrj& 1948 bZ0 esaA 
 
When was NCC established? 
Answer- 1948 AD 

1 
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1(9) lsuk isV ds cy pyrh gS& fdlus dgk\ 
mrj& usiksfy;u usA 
 
Who said- Army marches on its stomach? 
Answer- Napoleon  

1 

1(10) Hkkjr esa fe’kkby eSu ds uke ls  ------------------- dks tkuk tkrk gSA 
mrj& MkW0 ,0ih0ts0 vCnqy dykeA  
 
………… is known as missile man in India. 
Answer- Dr. APJ Abdul Kalam 

1 

1(11) rksi[kkus dk tud ------------------------ dks ekuk tkrk gSA 
mrj& xqLrkol ,MksYQl 
 
……………… is considered the father of artillery.  
Answer- Gustavus Adolphus 

1 

1(12) Hkkjr us nwljk ijek.kq foLQksV o"kZ ------------------------ esa fd;kA 
mrj& 1998 bZ0 esaA 
 
India conducted the second nuclear explosion in the year ..………. 
Answer- 1998 

1 

1(13) vfHkdFku (A) & Hkkjrh; lSU; laxBu dh rqyuk fijkfeM ls dh tkrh gSA 

dkj.k (R)& D;ksafd Hkkjrh; lsuk dk vkdkj fo’kky gSA 
¼d½ vfHkdFku (A) vkSj dkj.k (R) nksuksa lR; gSA 
¼[k½ vfHkdFku (A) vkSj dkj.k (R) nksuksa vlR; gSA 
¼x½ vfHkdFku (A) lR; gS ysfdu dkj.k (R) vlR; gSA 
¼?k½ vfHkdFku (A) vlR; gS ysfdu dkj.k (R) lR; gSA 
mrj&¼x½ vfHkdFku (A) lR; gS ysfdu dkj.k (R) vlR; gSA 
 
Assertion (A)- Indian army organization is compared to a pyramid.  
Reason(R)- Because the size of the Indian army is vast.  
(A)  Both Assertion (A) and Reason (R) are true. 
(B) Both Assertion (A) and Reason (R) are false. 
(C) Assertion (A) is true but Reason (R) is false. 
(D) Assertion (A) is false but Reason (R) is true. 
Answer- (c) Assertion (A) is true but Reason (R) is false. 

1 

1(14) vfHkdFku (A) & v/kZ lSU; cyksa dks j{kk dh f}rh; iafDr Hkh dgrs gSA 
dkj.k (R)& D;ksafd ;s vko’;drk iM+us ij lsuk dks lg;ksx djrs gaSaA 
¼d½ vfHkdFku (A) vkSj dkj.k (R) nksuksa lR; gSA 

1 
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¼[k½ vfHkdFku (A) vkSj dkj.k (R) nksuksa vlR; gSA 
¼x½ vfHkdFku (A) lR; gS ysfdu dkj.k (R) vlR; gSA 
¼?k½ vfHkdFku (A) vlR; gS ysfdu dkj.k (R) lR; gSA 
mrj&¼d½ vfHkdFku (A) vkSj dkj.k (R) nksuksa lR; gSA 
 
Assertion (A)- Para Military forces is called the second line of 
defence. 
Reason (R)- Because they are helped the army if need. 
(A) Both Assertion (A) and Reason (R) are true. 
(B)Both Assertion (A) and Reason (R) are false. 
(C)Assertion (A) is true but Reason (R) is false. 
(D)Assertion (A) is false but Reason (R) is true. 

           Answer- (A)Both Assertion (A) and Reason (R) are true. 
1(15) vfHkdFku (A) & vk/kqfud le; esa ok;q lsuk thr dh |ksrd ekuh tkrh 

gSA 
dkj.k (R)& D;ksafd ok;q lsuk ;q) ds nkSjku rhoz xfr ls loZ= dk;Zokgh 
djus esa l{ke gSA 
¼d½ vfHkdFku (A) vkSj dkj.k (R) nksuksa lR; gSA 
¼[k½ vfHkdFku (A) vkSj dkj.k (R) nksuksa vlR; gSA 
¼x½ vfHkdFku (A) lR; gS ysfdu dkj.k (R) vlR; gSA 
¼?k½ vfHkdFku (A) vlR; gS ysfdu dkj.k (R) lR; gSA 
mrj&¼d½ vfHkdFku (A) vkSj dkj.k (R) nksuksa lR; gSA 
 
Assertion (A)- In modern period, Air Force is considered a symbol of 
victory. 
Reason (R)- Because the Air Force is capable of taking action 
everywhere at a rapid pace during war. 
(B) Both Assertion (A) and Reason (R) are true. 
(B)Both Assertion (A) and Reason (R) are false. 
(C)Assertion (A) is true but Reason (R) is false. 
(D)Assertion (A) is false but Reason (R) is true. 

         Answer- (a) Both Assertion (A) and Reason (R) are true. 

1 

 

 

 Very Short Answer Type Questions 06x02=12 

2       Hkkjrh; lSU; laxBu ds dksbZ nkss mn~ns’; fyf[k,A 
mŸkj& 
1- ckg~; [krjksa ls lqj{kk djuk 
2- ukxfjd iz’kklu dks vko’;drkuqlkj lg;ksx djuk 
3- vkUrfjd [krjksa ls fuiVus esa lg;ksx djuk vkfnA 

 
           Write any two objectives of the Indian Military organisation. 

Answer-  
1- To protect the external threats 

2 
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2- To cooperate with the civil administration as per requirement 
3- To cooperate in dealing with internal threats etc.  

3       lkewfgd fouk’k ds gfFk;kj dkSuls gSa\ 
mŸkj& 
1- ijek.kq gfFk;kj 
2- tSfod gfFk;kj 
3- jlk;fud gfFk;kj 

 
           What are the weapons of mass destruction?  
           Answer- 

1- Nuclear weapon 
2- Biological Weapon 
3- Chemical Weapon 

2 

4        Hkkjr ds dksbZ nks foekuokgd iksrksa ds uke fyf[k,A  
mŸkj& 
1- vkbZ0,u0,l0 foØkar 
2- vkbZ0,u0,l0 fojkV 
3- vkbZ0,u0,l0 foØekfnR; 

            Write the name of any two Aircraft Carriers of India.  
        Answer- 

1- INS Vikrant 
2- INS Viraat 
3- INS Vikramaditya   

2 

5        Hkkjrh; Fky lsuk ds fdUgha pkj VSadksa ds uke fyf[k,A 
mŸkj& 
1- vtqZu VSad 
2- Hkh"e VSad 
3- d.kZ VSad 
4- fot;ark VSad 

 
            Write the name of any four tanks of Indian Army.  
        Answer- 

1- Arjun Tank 
2- Bhishma Tank 
3- Karan Tank 
4- Vijayanta Tank  

   

2 

6 jk"Vªh; dSMsV dksj ds mn~ns’; fyf[k,A 
mŸkj& 
1- usr`Ro {kerk dk fuekZ.k 
2- vuq’kklu dh Hkkouk dk fodkl 
3- pfj= fuekZ.k djuk 
4- jk"Vªh; lqj{kk ds izfr tkxf̀r iSnk djuk vkfnA 

1 
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           Write the aims of NCC. 
            Answer- 

1. Building leadership capability 
2. Develop the sense of discipline 
3. Character building 
4. Creating awareness about national security etc. 

OR 
      ijek.kq dh izfrfØ;k,¡ fyf[k,A 

mŸkj& 
1- ijek.kq fo[k.Mu 
2- ijek.kq lay;u 

 
          Write the reactions of atoms. 
 Answer- 

1- Nuclear fission 
2- Nuclear fusion  

7        izknsf'kd lsuk dh ;wfuVksa dks fyf[k,A 
mŸkj& 
1- 'kgjh ;wfuV 
2- xzkeh.k ;wfuV 

          Write the units of Territorial Army. 
 Answer- 

1- Urban Unit 
2- Rural Unit 

OR 
      iz’kkldh; dEiuh esa dkSu lh IykVwus gksrh gSa\ 

mŸkj& 
1- DokZVj ekLVj IykVwu 
2- esfMdy IykVwUk 
3- ifjogu IykVwu 

 
            Which platoons are there in an administrative company? 
        Answer- 

1- Quarter Master Platoon 
2- Medical Platoon 
3- Transport Platoon 

 

2 

 Short Answer Type Questions 06x03=18 

8        Hkkjr ds jk"Vªifr dh vkikrdkyhu 'kfDr;k¡ fyf[k,A  
       mŸkj& 

1- vuqPNsn 352 ¼ckg~; vkØe.k o vkUrfjd v’kkfUr ds le;½ 
2- vuqPNsn 356 ¼jkT; esa laoS/kkfud rU= foQy gksus ij½ 

3 
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3- vuqPNsn 360 ¼ns’k esa forh; ladV ds le;½ 
 
           Write the emergency powers of the President of India. 

Answer- 
1- Article 352 (During external aggression and internal disturbance) 
2- Article 356 (During constitutional machinery fails in the states) 
3- Article 360 (During financial crisis in the country) 

9 dofpr ny dh fo’ks"krk,a fyf[k,A  
mŸkj& 
1- Rkst xfr ls vkØe.k djuk 
2- vR;f/kd ekjd {kerk 
3- etcwr ekspkZcUnh dh {kerk vkfnA 

 
           Write the features of armoured corps.  

Answer- 
1- Attacking at high speed 
2- Extreme firepower 
3- Strong barricade capacity etc. 

3 

10            gfFk;kjksa dk dk;Z{kerk ds vk/kkj ij oxhZdj.k dk o.kZu dhft,A 
       mŸkj& 

1- vkØek.kRed gfFk;kj 
2- izfrj{kkRed gfFk;kj 

           Describe the classification of weapons on the basis of functionality.  
           Answer- 

1- Offensive weapon 
2- Defensive weapon 

3 

11       Hkkjrh; ok;qlsuk dh dekaMksa dk o.kZZu dhft,A 
mŸkj& 
1- ifjpkyu dekaM& 05 
2- izf’k{k.k dekaM & 01 
3- esaVsusal dekaM  & 01 

 
Describe the commands of Indian Air Force.  
Answer- 
1- Operational commands – 05 
2- Training command       - 01 
3- Maintenance command – 01 

3 

12 lhek lqj{kk cy ds eq[; dk;kZsa dk o.kZu dhft,A 
mŸkj& 
1- lhek dh lqj{kk djuk 
2- lhek ij voS/k rLdjh jksduk 
3- ;q) ds le; lsuk dk lg;ksx djuk 

3 
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4- vkink ds le; ukxfjd iz’kklu dks lg;ksx djuk vkfn 
 

        
           Describe the main functions of Border Security Force. 
          Answer- 

1- Securing the border 
2- Stopping illegal smuggling at the border 
3- Supporting the army during war 
4- To cooperate with civil administration during disaster etc. 

OR 
 

      vkØe.k ds le; jkWdsV ykWUpj ds mi;ksx fyf[k,A 
       mŸkj& 

1- 'k=q ds VSadksa dks u"V djuk 
2- 'k=q dh rksiksa dk tokc nsuk 
3- 'k=q ds ekspkZsa dks vlQy djuk 
4- 'k=q dh ifjogu O;oLFkk dks u"V djuk 
5- 'k=q dks ijs’kku djuk vkfnA 

 
           Write the uses of rocket launcher during attack.  
           Answer- 

1- Destroying enemy tanks 
2- Responding to enemy artillery  
3- To thwart the enemy’s fronts 
4- Destroying the enemy’s transportation system 
5- Harassing the enemy etc. 

13         gkse xkM~lZ ds izeq[k dk;Z fyf[k,A 
       mŸkj& 

1- vkarfjd lqj{kk esa iqfyl dh lgk;rk djuk 
2- gokbZ geys ds nkSjku lgk;rk djuk 
3- vkikr fLFkfr ds nkSjku j{kk djuk 
4- ;krk;kr lsokvksa esa lg;ksx djuk vkfnA 

           Write the main functions of Home Guards. 
           Answer- 

1- To assist the police in internal security 
2- Providing assistance during during air raid 
3- To protect during emergency  
4- To cooperate in transport services etc. 

                    OR 
ekj dh nwjh ds vk/kkj ij fe’kkbyksa dk oxhZdj.k dhft,A  
mŸkj& 

3 
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1- ,l0 vkj0 ch0 ,e0  
2- ,e0 vkj0 ch0 ,e0  
3- vkbZ0 vkj0 ch0 ,e0  
4- vkbZ0 lh0 ch0 ,e0  

 
             Classify missiles on the basis of strike distance. 
             Answer- 

1- SRBM 
2- MRBM 
3- IRBM 
4- ICBM 

 Essay Type Questions 03x05=15 

14        iz’kklu ds fl)kUrksa dh foLr̀r O;k[;k dhft,A 

mŸkj& 
1- nwjnf’kZrk 
2- 'kfDr dh ferO;;rk 
3- ljyrk 
4- lg;ksx 
5- ypd 
6- fu"i{krk 

 
            Explain in details the principles of Administration.  
            Answer- 

1- Foresight 
2- Economy of power 
3- Simplicity 
4- Collaboration 
5- Flexibility 
6- Neutrality  

 OR 
       Hkkjr ds mPprj j{kk laxBu dh O;k[;k dhft,A 

mŸkj& 
1- jk"Vªifr 
2- dSfcusV dh lqj{kk lfefr 
3- j{kk ea=h 
4- j{kk eU=kYk;& j{kk foHkkx] j{kk mRiknu foHkkx] j{kk ,oa vuqla/kku 

foHkkx] lSfud dY;k.k foHkkx] lSU; ekeyksa dk foHkkx vkfn 
5- l’kL= lsukvksa ¼Fky] ok;q vkSj ukSlsuk½ ds eq[;ky;A   

 
            Explain the higher defence organization of India. 
            Answer- 

1- The President 

5 
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2- Cabinet committee on security 
3- Defence minister 
4- Ministry of Defence- Dept. of Defence, Dept. of Defence 

production, Dept. of Defence and Research, Dept. of 
Military Affairs, Dept. of Military Welfare etc. 

5- Head quarter of Armored forces (Army, Air force and 
Navy) 

 
15        iSny lsuk dh fo’ks"krkvksa vkSj dfe;ksa dk o.kZu dhft,A 

mŸkj& 
fo’ks"krk,¡& 
1- vuqdwyre {kerk 
2- vkRefuHkZjrk 
3- Hkwf/kxzg.k {kerk 
4- izgkj 'kfDr 
5- xfr’khyrk 
6- lg;ksx 

       dfe;ka& 
1- xfr’khyrk dh deh 
2- vf/kd Hkkj u ys tkus esa l{ke 
3- dk;Z{ks= dh U;wurk 
4- lqj{kk dh deh vkfnA 

 
 

             Describe the characteristics and disadvantages of Infantry. 
             Answer- 
             Characteristics  

1- Optimum capacity 
2- Self reliance 
3- Land holding capacity 
4- Strike power 
5- Mobility 
6- Collaboration  

            
             Disadvantages 

1- Lack of mobility 
2- Not able to carry much load 
3- Shortage of work area 
4- Lack of security etc. 

 
 
 OR 

5 
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lh0vkj0ih0,Q0 ds dk;kZsa dk mYys[k dhft,A 
mŸkj& 
1- vkjf{kr lsuk ds :Ik esa lg;ksx 
2- naxksa ij fu;a=.k 
3- dkuwu O;oLFkk cuk, j[kus esa lg;ksx 
4- okeiaFkh mxzokn ls fuiVuk 
5- vkink ds le; jkgr ,oa cpko djuk 
6- lkefjd fBdkuksa dh lqj{kk djuk 
7- 'kkfUriw.kZ pquko lEiUu djkus esa lg;ksx djuk 
8- vkradh xfrfof/k;ksa ls fuiVuk 
9- 'kkfUr j{kk vfHk;kuksa esa Hkkx ysuk 
10- HkhM+ dh fu;fU=r djuk vkfnA 

 
            Mention the functions of CRPF.  
            Answer- 

1- Cooperation in the form of reserve army 
2- Control of riots 
3- Cooperation in maintaining law and order 
4- Dealing with left wing extremism  
5- Relief and rescue during disaster 
6- Protecting strategic targets 
7- To cooperate in conducting peaceful elections 
8- Dealing with terrorist activities 
9- Participating in peacekeeping operations 
10-  Crowd control etc. 

 
16        LVsuxu dh fo’ks"krkvksa vkSj mi;ksxksa dh foospuk dhft,A 

mŸkj& 
       LVsuxu dh fo’ks"krk,a 

1- lqj{kk 
2- n<̀+rk 
3- Qk;j xfr 
4- fouk'kd {kerk 
5- ekjd {kerk 
6- ferO;;rk 
7- Hkkj {kerk 

 
LVsu xu ds mi;ksx 
1- vkØe.k ds le; 
2- izfrj{kk ds le; 

 
          Discuss the characteristics and uses of stengun. 
           Answer- 
          Sten Gun characteristics 

5 
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1- Security 
2- Endurance 
3- Range of fire 
4- Striking power 
5- Range of action 
6- Economy 
7- Portability 

           
           Uses of Sten Gun 

1- In attack 
2- In defecne 

OR 
          ijek.kq ce vkSj blds izHkko dh foLr`Rk o.kZu dhft,A 

mŸkj& 
       ijek.kq ;qx dh 'kq:vkr& 

1- fgjksf’kek ij ijek.kq geyk 
2- ukxklkdh ij ijek.kq geyk 
ijek.kq ;q) ds izHkko& 
1- /kekds dk izHkko 
2- rki dk izHkko 
3- jsfM,’ku dk izHkko 
4- thUl ij izHkko 

 
          Describe in details the atom bomb and its effects. 
           Answer- 
          Beginning of the nuclear age 

1- Nuclear attack on Hiroshima 
2- Nuclear attack on Nagasaki 

           
           Effects of Nuclear warfare 

1- Effect of explosion 
2- Effect of heat 
3- Effect of radiation 
4- Effect on genes 

 
 

 

 

 


